79






95

96

97

98

81







99

100

101

102

83







103

104

105

106

107

108

109

110

85




111

112

113

i

114

115

86




87






60 n= 652
459
40 351 340
316 314 270 26.7
20 155
0
60 1 536 -
524 474 n= 660
40 302
20 179
32 23 12
O | ||
45.9
35.1
34.0
53.6
52.4

47.4

16

89




116

117

118

119

90




n= 660

32

08

72.9
65.2 43.0
42.6

16

91




120

121

92




93






122

123

95




6.7

n =660

91.2

15 6.7

912

8.2

1.5

0.6

16

96




124

125

126

127

128

129

130

131

97




340 390
18
30
1
65 65
2
23
3
4
14
220 240

98




15

15

99




34

53

10
28.6 20

97 100

10

95 95
90.2 95

76 90
90.2 95
95.2 100
109.1 100
105.1 100

76 95
98.6 100
87.2 95
95

100

100




